Use Sine Law to solve the following triangles:
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Use Cosine Law to solve the following triangles:
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6 Solve the following triange: S[ o
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9. The net force acting on an object is 255 N, 16° North of East. There is a 220 N force acting 19°
West of South and another force acting on the object. What is the magnitude and direction of
the second force?
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10. A plane is flying with airspeed of 216 m/s due East, a 30 m/s wind is blowing at 28° N of W.
What is the resultant velocity of the plane? )
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1!. A plane with airspeed of 180m/s, pointed due North is deflected from its bearing by 25° to the
East by a strong wind. Due to the wind the plane travels with a ground speed of 150 m/s. What
is the speed and direction of the wind?
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12. A boat which can travel at 3.3 m/s in calm water is attempting to cross an 85 m wide river which
flows at 2.5m/s and hopes to end up at a dock 65 m downstream. What direction should the
boat be pointed?
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